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4.8 wLgy 244,680| 243,568 1,112
19758 w9 224,340| 214,200 10,140
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3. 8&FN B 1,040 0 1,040| 85308 4 1 20,0009 13%#43]= 1,040,000
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n| R ZFALE 30,0009 457 #127) D= 16,200,000
o] ZFALE ¢ 30,0009 %30 «1271 L= 10,800,000
Lotz 7] ZALE 30,0009 %309 1270
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- 10,800,000
FARAE ZFALE 30,0009 +30T8 #1271 Y= 10,800,000
AFE R A= ¢ 30,0009 %658 127 D= 23,400,000
SRR AALE 30,0009 x40 « 1271 L= 14,400,000
Wai e Z2ALE 30,0009 #30 127 Y= 10,800,000
P ELEFLE 24 Ke) ]
o 55 19,200 0 19,200 jﬁ S A2 H] 20,0009 #409 1270 9,600,000
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FEDSE wAN] ;99,0009 20 23] = 3,960,000
oK wAH] : 20,0009 #207 #43]= 1,600,000
FARRAE WAH] ¢ 10,0009 %207 #4.3] = 800,000
AFEF WA 1 15,000 48 23] = 1,440,000
SRR wAH] ¢ 15,0009 %40 #33]= 1,800,000
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1. Y ukEgn 4,000 0 4,000 2% TU<HA> 1 1,000,0009) #43]= 4,000,000
2. 7718 % 19,600 0 19,600 | A 7] S F<A 4> 1 1,960,000 107] L= 19,600,000
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EE7¢ :3,000,0009 * 13] 3,000,000
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2. Uk T30 1,020 700 320 | W F-A 3] 30,0009 %347 = 1,020,000
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ode] FolAld#eH] & 50,000+ 33]= 150,000
ZqFE S24H] 1 500,0009) x 1)@= 500,000
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i;;ﬁ;iﬂ Fhe| < g> 1 25000 +20) 500,000
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1. dukgn) 1,900 2,000 -100 AFF-&% T ¢ 100,0009 * 17Hxl= 100,000
BAANLHE 150,000 «1th =129 = 1,800,000
2.01] 400 400 0] &73eIn] @ 20,0009 10278 = 400,000
3. AWl F 2] 200 200 0|2AFE <131 @ 20,0009 #275 #53]= 200,000
4. [F1FAL nAhA 150 300 -150
1. kg9 0 300 -300
2. A Y H A0 150 0 150 | A F-A5= 1 150,000 #13] « 17 = 150,000
5. [fr1dretrd e 150 150 0
1.3 B A ) 150 150 0/FETY 5 & 15,0009%10F*13]= 150,000
6. [Fr13AI st 8,400 6,001 2,399
Ledsg 8,400 6,001 2,309 TEEAA ST 18,702 20x412E 8,400,000
7. 1A A A A 1,000 4,135 -3,135
1.9 34 H) 1,000 4,135 -3,135|8]3% 7% 1,000,000%13]= 1,000,000
2. A1 g A 146,992 164,354| -17,362
1.3 A A g u] A 146,992| 164,354| -17,362
L[ 2]FTeadg2AANTF 42,140 61,140| -19,000
147185 17,000 36,000| -19,000| " 7] &5 : 17,000,0009 * 17 x= 17,000,000
2.8 ER 13,800 13,800 048t EE ¢ 1,150,0009+127] Y= 13,800,000
37 EHEE 8w 11,340 11,340 0/ A3t aF 1 250,000 127 L= 3,000,000
QIEJ Y5 AIH] 450,000 127 D= 5,400,000
AAAEAN QT 1 50,0009 «127] L= 600,000
F77] A7VAALR ¢ 115,000 #1271 D= 1,380,000
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2. [N HY LY 20,845 20,845 0
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gk 20251 02€ 03Y 17A] 03% 01% 20 ABEYAN EALH olg| TP xEsln




20258t A = A = of| 4T Al A
AT ¢ el (9] © )
A+
: : Aty 3:‘3}% o HE712(4)
A ] | A AR A7HE AH & e SR
CCTV-H-A 2] &9H] : 150,000 1270 Y= 1,800,000
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A ARE 9 0 35,0009%22F%103]= 7,700,000
P S 2HE ¥T .
?Ef%éﬂégzl ¥ E) 10,315,000
7}% ZAALE : 58,8009 %53]= 294,000
FE@E : 976,0009 * 17hn= 976,000
Aukw 7] B2 2n] 1 200,000 #183]= 3,600,000
A7) 4 1 5,500,000913]= 5,500,000
2. A P EA N 1,000 1,000 0 ;}ﬁi;ﬁfﬁi&i% + (200,000€+2 1,000,000
4. [Z]132 e 42,720 42,720 0
13521 39,000 39,000 011741 (29) : 1,625,000 2 x12Y= 39,000,000
2. BFAYARTF 3,720 3,720 0 ‘:Eg?ﬂ%@%%@%) £ 155,000¢ 273 3,720,000
5.[21449¢% 6,000 3,000 3,000
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3.3 e #e 2,600 2,600 0
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3. EAALYG A SN 200 200 0|7FE3] <A Ak> 1 20,0009 %109 = 200,000
7.3 A FEE 75,972|  38,566| 37,406
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1. 4R H) 75,972|  38,566| 37,406 |dW|n] : 75,972,000 = 75,972,000
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